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cyclenum
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1.5
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a1
3_

4e
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1X
alpha13_4eX1X:cyclenum {run == 8156}
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0.6−

0.4−
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0

0.2
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alpha46_4eY4aY:cyclenum {run == 8156}
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3.5−

3−

2.5−

2−

de
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X

delta13_12X4eX:cyclenum {run == 8156}
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delta46_12X4eY:cyclenum {run == 8156}
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run:cyclenum {run == 8156}
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segment:cyclenum {run == 8156}
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80−

79.5−

79−

78.5−

78−

us
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1X
usl_1X:cyclenum {run == 8156}
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8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−
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l_
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Y

usl_4aY:cyclenum {run == 8156}
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cyclenum

12

12.5
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13.5

14
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X

usl_4eX:cyclenum {run == 8156}
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cyclenum

27.5

28

28.5

29

29.5

us
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4e
Y

usl_4eY:cyclenum {run == 8156}
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41.5−

41−

40.5−

40−

39.5−u
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usl_12X:cyclenum {run == 8156}
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8158
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run:cyclenum {run == 8156}
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cyclenum

124.5−
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123.5−

123−

122.5−us
r_

1X

usr_1X:cyclenum {run == 8156}
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cyclenum

8−

7.5−

7−

6.5−

6−us
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Y

usr_4aY:cyclenum {run == 8156}
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cyclenum

173.2

173.4

173.6

173.8

174

174.2

174.4
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174.8

175

175.2

175.4
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r_

4e
X

usr_4eX:cyclenum {run == 8156}
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cyclenum

21.5
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Y

usr_4eY:cyclenum {run == 8156}
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41.5−

41−

40.5−

40−

39.5−

us
r_
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X

usr_12X:cyclenum {run == 8156}
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cyclenum

8154
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8155
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8157
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run:cyclenum {run == 8156}
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cyclenum

16389

16389.5

16390
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l_
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usl_coil1:cyclenum {run == 8156}
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cyclenum
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2382.5

2383

2383.5

2384
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usl_coil3:cyclenum {run == 8156}
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5454

5454.2

5454.4

5454.6

5454.8

5455

5455.2
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5456
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usl_coil4:cyclenum {run == 8156}
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cyclenum

3459.5−

3459−
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3458−
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usl_coil6:cyclenum {run == 8156}
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cyclenum
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usl_coil7:cyclenum {run == 8156}
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cyclenum

8154
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run:cyclenum {run == 8156}
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15162.8−

15162.6−
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15161.8−

15161.6−
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15161.2−
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15160.6−
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usr_coil1:cyclenum {run == 8156}
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cyclenum
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1932.5−
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1931.5−

1931−us
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usr_coil3:cyclenum {run == 8156}
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cyclenum

5800

5800.5

5801
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5802
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usr_coil4:cyclenum {run == 8156}
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usr_coil6:cyclenum {run == 8156}
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usr_coil7:cyclenum {run == 8156}
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run:cyclenum {run == 8156}
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1X_coil1:cyclenum {run == 8156}
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cyclenum
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12.2
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13.2
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14
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1X_coil3:cyclenum {run == 8156}
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cyclenum
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223.5
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1X_coil7:cyclenum {run == 8156}
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cyclenum

231.4−

231.2−
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230.8−

230.6−
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X
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4eX_coil1:cyclenum {run == 8156}
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22−
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4eX_coil3:cyclenum {run == 8156}
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4eX_coil7:cyclenum {run == 8156}



10549 10549.5 10550 10550.5 10551
cyclenum

287.6

287.8
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289

289.2
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4aY_coil4:cyclenum {run == 8156}
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4aY_coil6:cyclenum {run == 8156}
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44−

43.5−

43−

42.5−
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4aY_coil7:cyclenum {run == 8156}
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4eY_coil6:cyclenum {run == 8156}
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cyclenum
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34.5−

34−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8156}
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234.5−
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12X_coil1:cyclenum {run == 8156}
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12X_coil3:cyclenum {run == 8156}
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run:cyclenum {run == 8156}
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